District School Board of Pasco County Bid Recommendation

Bid Title	Fire Extinguisher Services	Number of Vendors Notified	181	
Bid Number	13-055-AF	Number of Bids Distributed	14	
Date Solicited	December 19, 2012	Number of Vendors Bidding	6	
Date Opened	January 24, 2013	Number of Formal "No Bid" Responses	0	
Date Board Presentation	February 5, 2013	Funding Source	General	
Total Savings	\$ 23,083.34	Grand Total of Bid	Estimated \$42,756	

Recommendation:

Recommend acceptance of bid as noted on the attached bid tabulation sheet, as lowest and best, responsive and responsible "all-or-none" bid for Parts A, B and C meeting written specifications.

Term of Contract:

The intent of this bid is to establish pricing for Portable Fire Extinguisher Services and Fire Suppression Hood Systems to be used throughout the District. This is a three-year bid renewable annually based upon mutual agreement of both parties. The first year of this contract is effective from February 6, 2013 through February 5, 2014.

Notations and Exceptions:

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Savings were determined by the averaging of all bids submitted and deducting the bid price of the recommended vendor.

Bids Evaluated By:

Tom Rutledge, District Safety Inspector, Construction Services

Bid Prepared By:

Amy Flack, Buyer, Purchasing Department

Reviewed and Authorized By:

Michael J. Woodall, CPPO, Purchasing Agent

Date/Time: January 30, 2013 08:20:00

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: January 24, 2013 @ 2:30 P.M.		All Florida Fire Equipment		Field's Fire Protection, Inc.		
BID TITLE: Fire Extinguisher Services		6060 - 31st	6060 - 31st Street North		5532 - 56th Commerce Park Blvd	
BID # 13-055-AF		St. Petersburg, FL 33714		Tampa, FL 33610		
	Board Meeting February 5, 2013		31		213.535.13	
QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
Part A	ALL INCLUSIVE SERVICE CHARGE for each portable extinguisher					
8,329	All Inclusive Service Fee for Portable Extinguisher	\$5.60	\$46,642.40	\$5.90	\$49,141.10	
	Subtotal:	\$46,642.40		\$49,141.10		
Part B	ALL INCLUSIVE SERVICE CHARGE per hood system					
	Semi-annual Inspection per Class K Suppression System	\$80.00	\$1,440.00	\$75.00	\$1,350.00	
	Subtotal:	\$1,440.00		\$1,350.00		
Part C	NEW EXTINGUISHERS					
	Specify Brand	Buckeye or Amerex		Amerex		
10	ABC Dry Chemical (2 1/2-Pound)	\$22.00	\$220.00	\$24.56	\$245.60	
60	ABC Dry Chemical (5 Pound)	\$28.00	\$1,680.00	\$32.50	\$1,950.00	
10	ABC Dry Chemical (10-Pound)	\$38.00	\$380.00	\$48.75	\$487.50	
30	Amerex Water Mist Type (2 1/2-Gallon)	\$103.05	\$3,091.50	\$121.18	\$3,635.40	
6	Class K - Type Chemical (6 Liter / 2 1/2 Pound)	\$100.00	\$600.00	\$129.06	\$774.36	
	Subtotal:	\$5,971.50		\$7,092.86		
ALL-OF	R-NONE GRAND TOTAL FOR PART A, PART B, AND PART C	\$54,053.90		\$57,583.96		
	Balance of Line Parts					
	Repair Parts Mark-up (Percentage %)	10%		15%		
0.000	Math Error ate Bid - Part "A" Only					
. acom	ace side it will it thing					

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: January 24, 2013 @ 2:30 P.M.		Florida Fire Service, Inc.		Piper Fire Protection, Inc.		
BID TITLE: Fire Extinguisher Services		P.O.	P.O. Box 186		521 Commerce Drive South	
BID # 13-055-AF		Brandor	n, FL 33509	Largo, F	L 33770	
	Board Meeting February 5, 2013					
QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
Part A	ALL INCLUSIVE SERVICE CHARGE for each portable extinguisher					
8,329	All Inclusive Service Fee for Portable Extinguisher	\$7.10	\$59,135.90	\$7.95 / **\$7.25	\$66,215.55 / **\$60,385.25	
	Subtotal:	*\$59,072.00 / \$59,135.90		\$66,215.55 / **\$60,385.25		
Part B	ALL INCLUSIVE SERVICE CHARGE per hood system		188			
	Semi-annual Inspection per Class K Suppression System	\$100.00	\$1,800.00	\$295.00	\$5,310.00	
	Subtotal:	*\$900.00 / \$1,800.00		\$5,310.00		
Part C	NEW EXTINGUISHERS					
	Specify Brand	Amerex - Strike First - Badger - Buckeye		Ansul		
10	ABC Dry Chemical (2 1/2-Pound)	\$10.00	\$100.00	\$42.00	\$420.00	
60	ABC Dry Chemical (5 Pound)	\$43.00	\$2,580.00	\$58.50	\$3,510.00	
10	ABC Dry Chemical (10-Pound)	\$45.00	\$450.00	\$78.50	\$785.00	
30	Amerex Water Mist Type (2 1/2-Gallon)	\$35.00	\$1,050.00	\$210.00	\$6,300.00	
6	Class K - Type Chemical (6 Liter / 2 1/2 Pound)	\$79.00	\$474.00	\$195.00	\$1,170.00	
	Subtotal:	\$4,654.00		\$12,185.00		
ALL-OF	ALL-OR-NONE GRAND TOTAL FOR PART A, PART B, AND PART C		*\$64,626.00 / \$65,589.90		\$83,710.55 / **\$77,880.25	
	Balance of Line Parts					
	Repair Parts Mark-up (Percentage %)	No Mark-up provided		40%		
	Math Error					
**Alterna	ate Bid - Part "A" Only					

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: January 24, 2013 @ 2:30 P.M.		Space Coast Fire & Safety, Inc.		Suncoast Fire Safety	
BID TITLE: Fire Extinguisher Services		420 Manor Drive		6403 River Road	
BID # 13-055-AF		Merritt Islar	nd, FL 32952	New Port Ric	hey, FL 34652
	Board Meeting February 5, 2013				
QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRIC
Part A	ALL INCLUSIVE SERVICE CHARGE for each portable extinguisher				
8,329	All Inclusive Service Fee for Portable Extinguisher	\$9.79	\$81,540.91	\$4.00	\$33,316.00
	Subtotal:	\$81,540.91		\$33,316.00	
Part B	ALL INCLUSIVE SERVICE CHARGE per hood system				
18	Semi-annual Inspection per Class K Suppression System	\$113.79	\$2,048.22	\$125.00	\$2,250.00
	Subtotal:	\$2,048.22		\$2,250.00	
Part C	NEW EXTINGUISHERS				
55	Specify Brand	Amerex - Badger		Buckeye/Badger/Amerex	
10	ABC Dry Chemical (2 1/2-Pound)	\$15.85	\$158.50	\$10.00	\$100.00
60	ABC Dry Chemical (5 Pound)	\$44.85	\$2,691.00	\$38.00	\$2,280.00
10	ABC Dry Chemical (10-Pound)	\$40.85	\$408.50	\$49.00	\$490.00
	Amerex Water Mist Type (2 1/2-Gallon)	\$119.85	\$3,595.50	\$120.00	\$3,600.00
6	Class K - Type Chemical (6 Liter / 2 1/2 Pound)	\$149.85	\$899.10	\$120.00	\$720.00
	Subtotal:	\$7,752.60		\$7,190.00	
ALL-OF	ALL-OR-NONE GRAND TOTAL FOR PART A, PART B, AND PART C		341.73	\$42,756.00	
	Balance of Line Parts				
	Repair Parts Mark-up (Percentage %)	25%		0%	
7.50-00000000000000000000000000000000000	Math Error				
Aitem	ate Bid - Part "A" Only				